MANATEE COUNTY GOVERNMENT INTENT TO AWARD

IFB NO. / TITLE	20-TA003172BB/SATELLITE LIFT STATION R&R – 2018 GROUP 2	DATE POSTED	MC DS	CC BCC
PROCUREMENT REPRESENTATIVE	Brooke Baker	PROJECTED AWARD DATE	January 14, 2020	
DEPARTMENT/DIVISION	Public Works Department	AUTHORIZED BY DATE	Theresa Webb, Pro	ocurement Official

NOTICE OF INTENT TO AWARD

The Manatee County Procurement Division provides notice of its intent to award a contract with U.S. Water Services Corporation for the provision of Satellite Lift Station R&R – 2018 Group 2.

ENABLING/REGULATING AUTHORITY

Manatee County Procurement Ordinance, Sec 2-26.

BACKGROUND/EVALUATION

The Scope of Work consists of the rehabilitation of sewage lift stations and manholes, including, but not be limited to, the following: wet well liner installation, repair, and replacement; wet well cleaning; and the replacement of discharge piping, fittings, valves, swing check valves, guide rails, pipe bracings, base ells, and mounting plates.

The solicitation was advertised on November 8, 2019 on the Manatee County website and DemandStar. It was also provided to the Manatee County Chamber of Commerce and the Manasota Black Chamber of Commerce for release of its members and in the Tempo News and Bradenton Herald newspapers. Responses were received from the following firms:

- 1. U.S. Water Services Corporation, New Port Richey, FL
- 4. Danus Utilities, Inc., Sanford, FL
- 2. CEC Motor & Utility Services, LLC, Palmetto, FL
- 5. Hinterland Group, Inc., Riviera Beach, FL
- 3. Granger Maintenance & Construction, Inc., Plant City, FL

EVALUATION SUMMARY:

U.S. Water Services Corporation was the lowest responsible, responsive bidder(s). A bid tabulation of the results is attached to this Notice of Intent to Award.

RECOMMENDATION

The Procurement Division and the Public Works Department recommend award to U.S. Water Services Corporation.

ATTACHMENTS (List in order of attached)	1) Bid Tabulation	NAME AND NUMBER OF FUNDING SOURCE	Utility Rates
COST	\$673,583.35	FUNDS VERIFIED	Yes

				U.S. Water S	Services Corporation	CEC Motor & Utility Services, LLC		Granger Maintenance & Construction, Inc.		Danus	s Utilities, Inc.	Hinterland Group, Inc.	
EL CONQU	ISTADOR 2				Port Richey, FL	Palmetto, FL		Plant City, FL		S	anford, FL	Riviera Beach, FL	
ITEM NO.	DESCRIPTION	U/M	QTY.	UNIT PRICE		UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
2 3	Wetwell Cleaning Wetwell Discharge Piping, HDPE DR-11, 4" Pump Base Ells, BPIU-14	SF LF EA	252 46 2	\$5.00 \$52.00 \$1,500.00	\$1,260.00 \$2,392.00 \$3,000.00	\$12.00 \$55.00 \$1,500.00	\$3,024.00 \$2,530.00 \$3,000.00	\$5.00 \$40.00 \$1,100.00	\$1,260.00 \$1,840.00 \$2,200.00	\$10.00 \$300.00 \$2,000.00	\$2,520.00 \$13,800.00 \$4,000.00	\$10.00 \$400.00 \$2,400.00	\$2,520.00 \$18,400.00 \$4,800.00
4 5	Pump Base Ell Mounting Plate S.S. Pipe Bracing, 5 ft dia.	EA EA	2	\$2,000.00	\$4,000.00	\$1,400.00 \$320.00	\$2,800.00	\$750.00 \$1,000.00	\$1,500.00	\$2,000.00	\$4,000.00	\$1,400.00	\$2,800.00
6	Intentionally Left Blank Modify Ex. Wet Well Rim	\/5		ć2 500 00	ć2 F00 00	¢2.400.00	ć2 400 00	¢4 000 00	Ć4 000 00	¢4 000 00	Ć1 000 00	¢2.400.00	ć2 400 00
7	Elevation, raise	VF	1	\$2,500.00	\$2,500.00	\$2,100.00	\$2,100.00	\$1,800.00	\$1,800.00	\$1,000.00	\$1,000.00	\$3,400.00	\$3,400.00
8	Replace Ex. Wetwell Top Slab PVC Vent, Sch 80, 4"	EA EA	1	\$3,500.00 \$189.00	\$3,500.00 \$189.00	\$2,700.00 \$300.00	\$2,700.00 \$300.00	\$3,000.00	\$3,000.00 \$400.00	\$3,000.00	\$3,000.00 \$500.00	\$7,500.00 \$800.00	\$7,500.00
10	Aluminum Hatch Cover, 36" x 48", single door (Wetwell)	EA	1	\$982.00	\$982.00	\$1,400.00	\$1,400.00	\$1,300.00	\$1,300.00	\$5,000.00	\$5,000.00	\$1,800.00	\$1,800.00
11	2" S.S. Pump Guide Rail System	LF	28	\$84.00	\$2,352.00	\$114.00	\$3,192.00	\$90.00	\$2,520.00	\$125.00	\$3,500.00	\$80.00	\$2,240.00
12 13	Wetwell Liner, spray-on Intentionally Left Blank	SF	252	\$32.00	\$8,064.00	\$31.00	\$7,812.00	\$36.00	\$9,072.00	\$25.00	\$6,300.00	\$40.00	\$10,080.00
14 15	Intentionally Left Blank Gate Valve, FLG, 4"	EA	3	\$581.00	\$1,743.00	\$400.00	\$1,200.00	\$1,200.00	\$3,600.00	\$900.00	\$2,700.00	\$2,500.00	\$7,500.00
16	Swing Check Valve, FLG, 4"	EA	2	\$1,573.00	\$3,146.00	\$900.00	\$1,800.00	\$1,800.00	\$3,600.00	\$1,900.00	\$3,800.00	\$2,500.00	\$5,000.00
17	Gate Valve, MJ, 4"	EA	1	\$705.00	\$705.00	\$412.00	\$412.00	\$1,600.00	\$1,600.00	\$1,100.00	\$1,100.00	\$2,500.00	\$2,500.00
18 19	Pipe, D.I., FLG, 4" Pipe, PVC (DR-18), 4"	LF LF	5 10	\$147.00 \$10.00	\$735.00 \$100.00	\$84.00 \$34.00	\$420.00 \$340.00	\$110.00 \$65.00	\$550.00 \$650.00	\$150.00 \$10.00	\$750.00 \$100.00	\$350.00 \$300.00	\$1,750.00 \$3,000.00
20.01	Ductile Iron Fittings Tee, FLG, 4"	EA	2	\$539.00	\$1,078.00	\$400.00	\$800.00	\$500.00	\$1,000.00	\$600.00	\$1,200.00	\$800.00	\$1,600.00
20.02	90, FLG, 4" 90, MJ, 4"	EA EA	1	\$393.00 \$357.00	\$393.00 \$357.00	\$314.00 \$400.00	\$314.00 \$400.00	\$350.00 \$550.00	\$350.00 \$550.00	\$500.00 \$400.00	\$500.00 \$400.00	\$500.00 \$500.00	\$500.00 \$500.00
20.04 20.05	Intentionally Left Blank Intentionally Left Blank												
21	Quick Coupler Adapter, aluminum, male, 4"	EA	1	\$177.00	\$177.00	\$159.00	\$159.00	\$300.00	\$300.00	\$400.00	\$400.00	\$800.00	\$800.00
22	S.S. Adjustable Valve Supports, FLG attachment	EA	2	\$344.00	\$688.00	\$520.00	\$1,040.00	\$270.00	\$540.00	\$300.00	\$600.00	\$1,200.00	\$2,400.00
23	Abandon Valve Vault	LS	1	\$2,500.00	\$2,500.00	\$2,300.00	\$2,300.00	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00	\$5,400.00	\$5,400.00
24	Intentionally Left Blank Concrete Slab, Valve	LS	1	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$850.00	\$850.00	\$2,000.00	\$2,000.00	\$2,400.00	\$2,400.00
26	Assembly Influent Line Plug, 8"	EA	1	\$100.00	\$100.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$500.00	\$500.00	\$1,200.00	\$1,200.00
27 28	By-Pass Pumping Intentionally Left Blank	LS	1	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00	\$9,000.00	\$9,000.00	\$5,000.00	\$5,000.00	\$12,000.00	\$12,000.00
29	Relocate Ex. Backflow, Meter, & Hose Bib Assembly	EA	1	\$1,200.00	\$1,200.00	\$175.00	\$175.00	\$700.00	\$700.00	\$2,500.00	\$2,500.00	\$2,400.00	\$2,400.00
30	Remove & Replace Electric Meter Can	EA	1	\$437.00	\$437.00	\$1,200.00	\$1,200.00	\$1,800.00	\$1,800.00	\$3,300.00	\$3,300.00	\$1,800.00	\$1,800.00
31	Remove & Replace Fused Safety Switch (disconnect)	EA	1	\$352.00	\$352.00	\$4,000.00	\$4,000.00	\$4,200.00	\$4,200.00	\$4,400.00	\$4,400.00	\$3,400.00	\$3,400.00
32	Remove & Replace Control Panel	EA	1	\$23,749.00	\$23,749.00	\$15,717.00	\$15,717.00	\$16,000.00	\$16,000.00	\$25,000.00	\$25,000.00	\$18,000.00	\$18,000.00
33	TCU & Fiberglass Enclosure, DFS	EA	1	\$488.00	\$488.00	\$12,700.00	\$12,700.00	\$15,000.00	\$15,000.00	\$17,500.00	\$17,500.00	\$14,000.00	\$14,000.00
34	Junction Box, 304 SS Remove & Replace Sch 80	EA	1	\$2,918.00	\$2,918.00	\$1,127.50	\$1,127.50	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
35	PVC Conduit Intentionally Left Blank	LF	30	\$12.00	\$360.00	\$19.00	\$570.00	\$45.00	\$1,350.00	\$150.00	\$4,500.00	\$50.00	\$1,500.00
37	Remove & Replace Electrical Mounting Structure Level Transducer, GXS3-	EA	1	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$3,300.00	\$3,300.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
38	PP300-A49-B49(50)-C01 Ex. Antenna Concrete Base,	EA	1	\$1,255.00	\$1,255.00	\$350.00	\$350.00	\$1,600.00	\$1,600.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00
40	remove & disposal Intentionally Left Blank Concrete Repair, 2" thick (if	LS	1	\$200.00	\$200.00	\$2,200.00	\$2,200.00	\$400.00	\$400.00	\$1,500.00	\$1,500.00	\$4,500.00	\$4,500.00
41	required) Intentionally Left Blank	SF	126	\$21.00	\$2,646.00	\$3.00	\$378.00	\$12.00	\$1,512.00	\$4.00	\$504.00	\$25.00	\$3,150.00
43	Driveway, 6" thick concrete	SY	28	\$143.00	\$4,004.00	\$310.00	\$8,680.00	\$76.00	\$2,128.00	\$300.00	\$8,400.00	\$85.00	\$2,380.00
44 45	Sodding Intentionally Left Blank	SY	20	\$6.00	\$120.00	\$56.00	\$1,120.00	\$20.00	\$400.00	\$100.00	\$2,000.00	\$15.00	\$300.00
46	Intentionally Left Blank												
47	Intentionally Left Blank Intentionally Left Blank												
49 49.01	Intentionally Left Blank Intentionally Left Blank												
50	Fence, galvanized, vinyl coated, 6' high	LF	67	\$45.00	\$3,015.00	\$23.00	\$1,541.00	\$30.00	\$2,010.00	\$80.00	\$5,360.00	\$65.00	\$4,355.00
51	Fence Gate, galvanized, vinyl coated, 6' high	EA	2	\$800.00	\$1,600.00	\$900.00	\$1,800.00	\$800.00	\$1,600.00	\$1,100.00	\$2,200.00	\$1,500.00	\$3,000.00
52	Fence Corner/Gate Post, galvanized, vinyl coated, 6' high	EA	6	\$100.00	\$600.00	\$150.00	\$900.00	\$30.00	\$180.00	\$100.00	\$600.00	\$350.00	\$2,100.00
53 53.01	Tree Removal 4.1"-6"	EA	2	\$2,000.00	\$4,000.00	\$1,000.00	\$2,000.00	\$550.00	\$1,100.00	\$1,500.00	\$3,000.00	\$800.00	\$1,600.00
53.02 53.03	6.1"-12" 12.1"-24" or Cluster	EA EA	2	\$1,200.00 \$2,500.00	\$2,400.00 \$2,500.00	\$700.00 \$1,000.00	\$1,400.00 \$1,000.00	\$1,000.00	\$2,000.00 \$3,000.00	\$2,000.00	\$4,000.00 \$2,500.00	\$1,200.00 \$1,500.00	\$2,400.00 \$1,500.00
53.03	Equivalent Miscellaneous Work	EA	1	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00
54.01	Concrete Wall, 3.5'-high, complete removal Intentionally Left Blank	LS	1	\$3,500.00	\$3,500.00	\$1,200.00	\$1,200.00	\$1,800.00	\$1,800.00	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00
54.03 54.04	Site Fill and Grading Intentionally Left Blank	LS	1	\$1,500.00	\$1,500.00	\$1,700.00	\$1,700.00	\$3,400.00	\$3,400.00	\$10,000.00	\$10,000.00	\$1,500.00	\$1,500.00
55 56	Mobilization Record Drawings	LS LS	1	\$10,000.00 \$2,500.00	\$10,000.00 \$2,500.00	\$11,000.00 \$4,000.00	\$11,000.00 \$4,000.00	\$8,000.00	\$8,000.00 \$3,000.00	\$20,000.00 \$4,000.00	\$20,000.00 \$4,000.00	\$4,500.00 \$4,500.00	\$4,500.00 \$4,500.00
Total Base Bid Based on Completion Time of 270			.21,805.00		.25,941.50		.27,762.00		201,434.00		94,875.00		
Calendar Days for El Conquistador 2 Contract Contingency (10% of Total Base			12,180.50		12,594.15		12,776.20						
Bid) Total Bid with Contract Contingency Based on		,	±2,±00.JU	\$.	±2,JJ+.±J	\$ 	±2,/ / U.ZU	\$20,143.40		\$.	19,487.50		
Completion Time of 270 Calendar Days for El Conquistador 2		\$1	.33,985.50	\$1	38,535.65	\$1	40,538.20	\$2	221,577.40	\$2	14,362.50		
WILD OAK	ВАУ	11.10-	OT:	LIAUT DOI CO	EVTENDED DE CO	LIMIT DOCAT	EVTENDED DE CO	LIMIT DO: CO	EVTENDED DE CO	LIMIT DO: CT	EVTENDED DE CO	LIAUT DOCC	EVTENDED DE CO
1	Wetwell Cleaning	U/M SF	QTY. 323	\$5.00	\$1,615.00	\$11.00	\$3,553.00	\$5.00	\$1,615.00	\$10.00	\$3,230.00	\$10.00	\$3,230.00
2	Wetwell Discharge Piping, HDPE DR-11, 4"	LF	43	\$55.00	\$2,365.00	\$55.00	\$2,365.00	\$40.00	\$1,720.00	\$300.00	\$12,900.00	\$400.00	\$17,200.00
3	Pump Base Ells, BPIU-14 Pump Base Ell Mounting	EA EA	2	\$1,500.00	\$3,000.00	\$1,500.00 \$1,400.00	\$3,000.00 \$2,800.00	\$1,100.00 \$750.00	\$2,200.00 \$1,500.00	\$2,000.00	\$4,000.00 \$4,000.00	\$2,400.00 \$1,400.00	\$4,800.00 \$2,800.00
	Plate			7 - ,000.00	Ψ 1,000.00	7±, TUU.UU	Ψ <u>-</u> ,000.00	ψ, 30.00	Ψ±,500.00	7=,000.00	ψ 1,000.00	7 ±, TOU.UU	72,000.00

Company	BID BASED ON COMPLETION TIME OF 270 CALENDAR				U.S. Water S	ervices Corporation ort Richey, FL		CEC Motor & Utility Services, LLC Palmetto, FL		Maintenance & truction, Inc.		Utilities, Inc.	Hinterland Group, Inc. Riviera Beach, FL	
Secretary Content								, i						
1. 1. 1. 1. 1. 1. 1. 1.				2	\$1,000.00		\$320.00				\$750.00			\$4,200.00
Part														
Control Property Control Property Control Co						·	 							
March Marc		·				•								·
Performance														
March Marc	10		EA	1	\$962.00	\$962.00	\$1,400.00	\$1,400.00	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00	\$1,800.00	\$1,800.00
1	11	<u>'</u>			\$84.00	\$2,436.00	\$114.00	\$3,306.00	\$90.00	\$2,610.00	\$125.00	\$3,625.00	\$80.00	\$2,320.00
10		• • •	SF	323	\$32.00	\$10,336.00	\$38.00	\$12,274.00	\$36.00	\$11,628.00	\$25.00	\$8,075.00	\$40.00	\$12,920.00
March Marc	14	Grout Fill Ex. Drain, abandon	EA	1	\$100.00	\$100.00	\$50.00	\$50.00	\$300.00	\$300.00	\$500.00	\$500.00	\$500.00	\$500.00
Company Comp	15	Gate Valve, FLG, 4"	EA	3	\$581.00	\$1,743.00	\$560.00	\$1,680.00	\$1,200.00	\$3,600.00	\$900.00	\$2,700.00	\$2,500.00	\$7,500.00
Page		-		2										\$5,000.00
		· · · ·											1	\$2,500.00 \$1,750.00
April Control Contro			LF	10	\$10.00	\$100.00	\$34.00	\$340.00	\$65.00	\$650.00	\$10.00	\$100.00	\$300.00	\$3,000.00
March Marc	20.01	Tee, FLG, 4"		_							-			\$1,600.00
March Marc	20.03	90, MJ, 4"	EA	1	\$357.00	\$357.00	\$400.00	\$400.00	\$550.00	\$550.00	\$400.00	\$400.00	\$500.00	\$500.00
Manual According 10 1 1 1 2 2 2 2 2 2 2			EA	2	\$357.00	\$714.00	\$350.00	\$700.00	\$500.00	\$1,000.00	\$390.00	\$780.00	\$500.00	\$1,000.00
22 Secretary Control	21		EA	1	\$177.00	\$177.00	\$159.00	\$159.00	\$300.00	\$300.00	\$400.00	\$400.00	\$800.00	\$800.00
20 Security Final Security Final Security	22	S.S. Adjustable Valve	EA	2	\$344.00	\$688.00	\$520.00	\$1,040.00	\$270.00	\$540.00	\$300.00	\$600.00	\$1,200.00	\$2,400.00
Control Cont	23			<u> </u>										
Secondary 1	24	'	LS	1	\$5,000.00	\$5,000.00	\$2,100.00	\$2,100.00	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00	\$7,500.00	\$7,500.00
March Telephone March	25	·	LS	1	\$2,500.00	\$2,500.00	\$900.00	\$900.00	\$850.00	\$850.00	\$2,000.00	\$2,000.00	\$2,400.00	\$2,400.00
22		Influent Line Plug, 8"		1		-	1	<u> </u>		-				\$1,200.00
Part		Install Backflow, Meter, &		1										\$12,000.00
Secretary Process Pr		•	LA	1	\$1,200.00	\$1,200.00	3800.00	\$800.00	\$1,200.00	\$1,200.00	\$2,300.00	\$2,300.00	32,400.00	32,400.00
Secure & Figure Force Force Co. 1 1942.00 50.00.00 54.	30	Remove & Replace Electric	EA	1	\$437.00	\$437.00	\$1,200.00	\$1,200.00	\$1,800.00	\$1,800.00	\$5,000.00	\$5,000.00	\$1,800.00	\$1,800.00
Figure F	31	Remove & Replace Fused	EA	1	\$352.00	\$352.00	\$4,000.00	\$4,000.00	\$4,200.00	\$4,200.00	\$6,000.00	\$6,000.00	\$3,400.00	\$3,400.00
The Content of Conte	32	· ·	EA	1	\$23.749.00	\$23.749.00	\$15.717.00	\$15.717.00	\$16.000.00	\$16.000.00	\$24.500.00	\$24.500.00	\$18.000.00	\$18,000.00
1.5 1.5				1			 							
Section Sect				1		•								
Service Applicate Fertical Vis. 25 \$20.00 \$500.00 \$5150.00 \$150.00 \$2,250.00 \$575.00 \$51,87	35	Remove & Replace Sch 80		30										\$1,500.00
Service Registed Deckrist EA 1 52,000 00 51,800 00 51,800 00 53,000 00 55,000 00 5		Remove & Replace Electrical	LF	25	\$20.00	\$500.00	\$61.00	\$1,525.00	\$100.00	\$2,500.00	\$100.00	\$2,500.00	\$75.00	\$1,875.00
Second Content						•	<u> </u>	. ,		. ,	·	. ,	·	. ,
18	٦/	·	EA	1	\$2,000.00	\$2,000.00	\$4,600.00	\$4,600.00	\$3,300.00	\$3,300.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
S. Antenna Concrete Basic Is 1 \$200.00 \$2,000.00 \$2,000.00 \$4,000.00 \$4,000.00 \$1,750.00 \$4,50	38		EA	1	\$1,255.00	\$1,255.00	\$350.00	\$350.00	\$1,600.00	\$1,600.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00
Monteriorally Left Blank Concrete Repair, 2* 1046, (i) S 162 \$21.00 \$3.402.00 \$5.00.0	39	Ex. Antenna Concrete Base,	LS	1	\$200.00	\$200.00	\$2,300.00	\$2,300.00	\$400.00	\$400.00	\$1,750.00	\$1,750.00	\$4,500.00	\$4,500.00
14		·		<u> </u>										
44 Seding Set Se	41	' '	SF	162	\$21.00	\$3,402.00	\$3.00	\$486.00	\$12.00	\$1,944.00	\$4.00	\$648.00	\$25.00	\$4,050.00
44 Sodding		· · · · · · · · · · · · · · · · · · ·												
Memorally Left Blank	44	Sodding	SY	50	\$6.00	\$300.00	\$30.00	\$1,500.00	\$20.00	\$1,000.00	\$100.00	\$5,000.00	\$15.00	\$750.00
AB	46	Intentionally Left Blank												
Femous F		· ·	ΕΛ	1	\$500.00	\$500.00	\$400.00	\$400.00	\$500.00	\$500.00	\$2,000,00	\$2,000,00	\$2,000,00	\$2,000,00
19.01 Intentionally Left Blank Fence Corner/Site Plot, Sample Sampl			LA		\$300.00	\$300.00	3400.00	3400.00	\$300.00	\$300.00	32,000.00	\$2,000.00	33,000.00	Ş3,000.00
Second S		Intentionally Left Blank		1										
Fence Corner/Cate Post,		coated, 6' high	LF	6	\$100.00	\$600.00	\$110.00	\$660.00	\$30.00	\$180.00	\$200.00	\$1,200.00	\$65.00	\$390.00
Night Nigh	51	·												
Intentionally Left Blank		galvanized, vinyl coated, 6'	EA	2	\$800.00	\$1,600.00	\$300.00	\$600.00	\$30.00	\$60.00	\$200.00	\$400.00	\$350.00	\$700.00
S3.02 Intentionally Left Blank	53	Intentionally Left Blank		•				·		•		•		
Intentionally Left Blank	53.02	Intentionally Left Blank												
S4.02 Intentionally Left Blank		·												
Section Sect		,												
PVC Fence (3 LF) LS 1 \$500.00 \$51,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$5,500.00 \$3,000.00 \$3,000.00 \$4,500.00 \$1,000.00 \$	54.03	Intentionally Left Blank											ļ	
Second Drawings LS 1 \$2,500.00 \$2,500.00 \$4,000.00 \$4,000.00 \$2,500.00 \$4,000.00 \$		PVC Fence (3 LF)		1										\$4,500.00
Salendar Days for Wild Oak Bay S10,901.8.00 S115,961.50 S12,315.7.00 S18,808.00 S19,353.5.00				1		· ·								\$4,500.00 \$4,500.00
Contract Contingency (10% of Total Base Bid) \$10,901.80 \$11,596.15 \$12,315.70 \$18,880.80 \$19,353.50 Total Bid with Contract Contingency Based on Completion Time of 270 Calendar Days for Wild Oak Bay \$119,919.80 \$127,557.65 \$135,472.70 \$207,688.80 \$212,888.50 TITEM NO. DESCRIPTION U/M QTY. UNIT PRICE EXTENDED PRICE UNIT PRICE	•		\$1	09,018.00	\$1	115,961.50	\$1	23,157.00	\$1	88,808.00	\$1	93,535.00		
Sid With Contract Contingency Based on Completion Time of 270 Calendar Days for Wild Oak \$119,919.80 \$127,557.65 \$135,472.70 \$207,688.80 \$212,888.50	Contract Contingency (10% of Total Base			۸.	IN 901 80		11 506 15	۸.	12 315 70	٨.	18 88N 8N		19 353 50	
Say		Bid)			, . 	.0,501.00	 	±±,000.10	Ş.	- <u>-</u> ,J±J./U	, , , , , , , , , , , , , , , , , , ,	-0,000.00	\$1	,
ITEM NO. DESCRIPTION U/M QTY. UNIT PRICE EXTENDED PRICE UNIT PRICE EXTENDED PRIC	Completio	- ·		d Oak	\$1	19,919.80	\$1	127,557.65	\$1	35,472.70	\$2	07,688.80	\$2	12,888.50
1 Wetwell Cleaning SF 387 \$5.00 \$1,935.00 \$11.00 \$4,257.00 \$5.00 \$1,935.00 \$10.00 \$3,870.00 \$10.00 \$3,870.00 \$20,000.00 \$3,870.00 \$25,000.00 \$2	WILDWOOD SPRINGS 1													
2 Wetwell Discharge Piping, HDPE DR-11, 6" LF 50 \$103.00 \$5,150.00 \$85.00 \$4,250.00 \$60.00 \$3,000.00 \$400.00 \$20,000.00 \$500.00 \$25,000.00 3 Pump Base Ells, BPIU-14 EA 2 \$1,500.00 \$3,000.00 \$1,100.00 \$2,200.00 \$4,000.00 \$2,400.00 \$4,800.0 4 Pump Base Ell Mounting Plate EA 2 \$2,000.00 \$4,000.00 \$1,400.00 \$2,800.00 \$1,500.00 \$2,000.00 \$4,000.00 \$2,800.0 5 S.S. Pipe Bracing, 6 ft dia. EA 2 \$1,000.00 \$2,000.00 \$1,100.00 \$2,200.00 \$1,800.00 \$2,100.00 \$2,100.00 \$2,200.00 6 Stilling Well, PVC, 6" LF 17 \$7.00 \$119.00 \$80.00 \$1,360.00 \$1,400.00 \$1,200.00 \$1,200.00 \$1,400.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00														EXTENDED PRICE \$3,870.00
3 Pump Base Ells, BPIU-14 EA 2 \$1,500.00 \$3,000.00 \$1,500.00 \$3,000.00 \$1,100.00 \$2,200.00 \$2,000.00 \$4,000.00 \$2,400.00 \$4,800.00 4 Pump Base Ell Mounting Plate EA 2 \$2,000.00 \$4,000.00 \$1,400.00 \$2,800.00 \$750.00 \$1,500.00 \$2,000.00 \$4,000.00 \$1,400.00 \$2,800.00 5 S.S. Pipe Bracing, 6 ft dia. EA 2 \$1,000.00 \$2,000.00 \$320.00 \$640.00 \$1,100.00 \$2,200.00 \$900.00 \$1,800.00 \$2,100.00 \$4,200.00 6 Stilling Well, PVC, 6" LF 17 \$7.00 \$119.00 \$80.00 \$1,360.00 \$50.00 \$850.00 \$75.00 \$1,275.00 \$65.00 \$1,105.00 7 Modify Ex. Wet Well Rim VE 0.83 \$1,500.00 \$1,249.50 \$1,200.00 \$999.60 \$1,800.00 \$1,400.00 \$1,400.00 \$1,249.50 \$1,249.50 \$1,200.00 \$1,200.00 \$1,200.00 \$1,249.50 \$1,249.50 \$1,249.50 \$1,200.0	2	Wetwell Discharge Piping,												\$25,000.00
4 Plate EA 2 \$2,000.00 \$4,000.00 \$1,400.00 \$2,800.00 \$750.00 \$1,500.00 \$2,000.00 \$4,000.00 \$2,800.00 5 S.S. Pipe Bracing, 6 ft dia. EA 2 \$1,000.00 \$2,000.00 \$1,100.00 \$2,200.00 \$900.00 \$1,800.00 \$2,100.00 \$4,200.0 6 Stilling Well, PVC, 6" LF 17 \$7.00 \$119.00 \$80.00 \$1,360.00 \$50.00 \$850.00 \$75.00 \$1,275.00 \$65.00 \$1,105.0 7 Modify Ex. Wet Well Rim VF 0.83 \$1,249.50 \$1,249.50 \$1,200.00 \$999.60 \$1,800.00 \$1,499.40 \$1,500.00 \$1,249.50 \$2,400.00 \$1,999.2	3	Pump Base Ells, BPIU-14	EA	2	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000.00	\$1,100.00	\$2,200.00	\$2,000.00	\$4,000.00	\$2,400.00	\$4,800.00
6 Stilling Well, PVC, 6" LF 17 \$7.00 \$119.00 \$80.00 \$1,360.00 \$50.00 \$850.00 \$75.00 \$1,275.00 \$65.00 \$1,105.00 \$1,000 \$1,	4	Plate		2				-						\$2,800.00
7 Modify Ex. Wet Well Rim VE 0.83 \$1,500.00 \$1,249.50 \$1,200.00 \$999.60 \$1,800.00 \$1,499.40 \$1,500.00 \$1,249.50 \$2,400.00 \$1,999.2						· ·								\$4,200.00 \$1,105.00
Elevation, lower 7 0.85 \$1,500.00 \$1,249.30 \$1,200.00 \$31,200.00 \$1,499.40 \$1,300.00 \$1,249.30 \$2,400.00 \$1,999.20	7	Modify Ex. Wet Well Rim	VF			\$1,249.50	\$1,200.00	\$999.60	\$1,800.00	\$1,499.40	\$1,500.00	\$1,249.50	\$2,400.00	\$1,999.20

				U.S. Water S	Services Corporation	CEC Motor &	Utility Services, LLC	ervices, LLC Granger Maintenance & Construction, Inc.		Danus	s Utilities, Inc.	Hinterland Group, Inc.	
EL CONQU	STADOR 2			New Port Richey, FL		Palmetto, FL		Plant City, FL		Sanford, FL		Riviera Beach, FL	
ITEM NO.	DESCRIPTION	U/M	QTY.	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
8	Replace Ex. Wetwell Top Slab		1	\$3,500.00	\$3,500.00	\$1,300.00	\$1,300.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$7,500.00	\$7,500.00
10	PVC Vent, Sch 80, 4" Aluminum Hatch Cover, 36" x 60", single door (Wetwell)	EA EA	1	\$189.00	\$189.00 \$1,300.00	\$271.00	\$271.00 \$1,400.00	\$400.00	\$400.00 \$1,500.00	\$500.00 \$5,000.00	\$500.00 \$5,000.00	\$800.00	\$800.00 \$1,800.00
11	2" S.S. Pump Guide Rail	LF	36	\$65.00	\$2,340.00	\$89.00	\$3,204.00	\$90.00	\$3,240.00	\$125.00	\$4,500.00	\$80.00	\$2,880.00
12	System Wetwell Liner, spray-on	SF	387	\$32.00	\$12,384.00	\$35.00	\$13,545.00	\$38.00	\$14,706.00	\$25.00	\$9,675.00	\$40.00	\$15,480.00
13 14	Intentionally Left Blank Grout Fill Ex. Drain, abandon	EA	1	\$100.00	\$100.00	\$50.00	\$50.00	\$300.00	\$300.00	\$500.00	\$500.00	\$500.00	\$500.00
15	Gate Valve, FLG, 6"	EA	3	\$768.00	\$2,304.00	\$900.00	\$2,700.00	\$1,800.00	\$5,400.00	\$1,500.00	\$4,500.00	\$3,200.00	\$9,600.00
16	Swing Check Valve, FLG, 6"	EA	2	\$2,077.00	\$4,154.00	\$2,000.00	\$4,000.00	\$2,500.00	\$5,000.00	\$2,250.00	\$4,500.00	\$3,200.00	\$6,400.00
17 18	Gate Valve, MJ, 6" Pipe, D.I., FLG, 6"	EA LF	5	\$57.00 \$176.00	\$57.00 \$880.00	\$923.00 \$142.30	\$923.00 \$711.50	\$2,000.00 \$150.00	\$2,000.00 \$750.00	\$1,600.00 \$300.00	\$1,600.00 \$1,500.00	\$3,200.00 \$400.00	\$3,200.00 \$2,000.00
19 20	Pipe, PVC (DR-18), 8" Ductile Iron Fittings	LF	70	\$20.00	\$1,400.00	\$40.00	\$2,800.00	\$90.00	\$6,300.00	\$50.00	\$3,500.00	\$350.00	\$24,500.00
20.01 20.02	Tee, FLG, 6" 90, FLG, 6"	EA EA	2	\$765.00 \$575.00	\$1,530.00 \$575.00	\$740.00 \$314.00	\$1,480.00 \$314.00	\$750.00 \$500.00	\$1,500.00 \$500.00	\$1,200.00 \$1,100.00	\$2,400.00 \$1,100.00	\$1,200.00 \$800.00	\$2,400.00 \$800.00
20.03	90, MJ, 6" 45, MJ, 6"	EA EA	1 2	\$510.00 \$510.00	\$510.00 \$1,020.00	\$410.00	\$410.00 \$778.00	\$800.00	\$800.00 \$1,400.00	\$900.00	\$900.00 \$1,800.00	\$800.00	\$800.00 \$1,600.00
20.05	Reducer, MJ, 6"x8"	EA	1	\$579.00	\$579.00	\$310.00	\$310.00	\$800.00	\$800.00	\$900.00	\$900.00	\$800.00	\$800.00
21	Quick Coupler Adapter, aluminum, male, 6"	EA	1	\$333.00	\$333.00	\$160.00	\$160.00	\$500.00	\$500.00	\$600.00	\$600.00	\$600.00	\$600.00
22	S.S. Adjustable Valve Supports, FLG attachment	EA	2	\$344.00	\$688.00	\$520.00	\$1,040.00	\$300.00	\$600.00	\$500.00	\$1,000.00	\$1,400.00	\$2,800.00
23 24	Abandon Valve Vault Intentionally Left Blank	LS	1	\$1,500.00	\$1,500.00	\$2,300.00	\$2,300.00	\$1,800.00	\$1,800.00	\$4,000.00	\$4,000.00	\$5,400.00	\$5,400.00
25	Concrete Slab, Valve Assembly	LS	1	\$2,000.00	\$2,000.00	\$900.00	\$900.00	\$850.00	\$850.00	\$2,000.00	\$2,000.00	\$2,400.00	\$2,400.00
26 27	Influent Line Plug, 10" By-Pass Pumping	EA LS	1	\$100.00 \$6,000.00	\$100.00 \$6,000.00	\$500.00 \$5,000.00	\$500.00 \$5,000.00	\$500.00 \$6,000.00	\$500.00 \$6,000.00	\$900.00 \$6,000.00	\$900.00 \$6,000.00	\$1,200.00 \$15,000.00	\$1,200.00 \$15,000.00
28	Install Backflow, Meter, & Hose Bib Assembly	EA	1	\$1,200.00	\$1,200.00	\$800.00	\$800.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$4,200.00	\$4,200.00
29	Intentionally Left Blank Remove & Replace Electric	·	<u> </u>						<u> </u>		<u> </u>		
30	Meter Can	EA	1	\$437.00	\$437.00	\$1,200.00	\$1,200.00	\$1,800.00	\$1,800.00	\$4,000.00	\$4,000.00	\$1,800.00	\$1,800.00
31	Remove & Replace Fused Safety Switch (disconnect)	EA	1	\$352.00	\$352.00	\$4,000.00	\$4,000.00	\$4,200.00	\$4,200.00	\$5,000.00	\$5,000.00	\$3,400.00	\$3,400.00
32	Remove & Replace Control Panel	EA	1	\$25,786.00	\$25,786.00	\$16,000.00	\$16,000.00	\$18,000.00	\$18,000.00	\$26,000.00	\$26,000.00	\$18,000.00	\$18,000.00
33	TCU & Fiberglass Enclosure, DFS	EA	1	\$488.00	\$488.00	\$12,700.00	\$12,700.00	\$15,000.00	\$15,000.00	\$17,500.00	\$17,500.00	\$14,000.00	\$14,000.00
34	Junction Box, 304 SS	EA	1	\$2,918.00	\$2,918.00	\$1,127.50	\$1,127.50	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00
35	Remove & Replace Sch 80 PVC Conduit	LF	30	\$12.00	\$360.00	\$19.00	\$570.00	\$45.00	\$1,350.00	\$150.00	\$4,500.00	\$50.00	\$1,500.00
36	Remove & Replace Electrical Service	LF	10	\$20.00	\$200.00	\$176.00	\$1,760.00	\$110.00	\$1,100.00	\$200.00	\$2,000.00	\$75.00	\$750.00
37	Remove & Replace Electrical Mounting Structure	EA	1	\$2,000.00	\$2,000.00	\$4,600.00	\$4,600.00	\$3,300.00	\$3,300.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00
38	Level Transducer, GXS3-	EA	1	\$1,255.00	\$1,255.00	\$350.00	\$350.00	\$1,600.00	\$1,600.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00
39	PP300-A49-B49(50)-C01 Ex. Antenna Concrete Base,	LS	1	\$200.00	\$200.00	\$2,200.00	\$2,200.00	\$400.00	\$400.00	\$1,750.00	\$1,750.00	\$4,500.00	\$4,500.00
40	remove & disposal Intentionally Left Blank	<u> </u>	<u> </u>						<u> </u>		[
41 42	Concrete Repair, 2" thick (if required) Intentionally Left Blank	SF	194	\$21.00	\$4,074.00	\$3.00	\$582.00	\$12.00	\$2,328.00	\$4.00	\$776.00	\$25.00	\$4,850.00
43	Intentionally Left Blank Sodding	SY	70	\$6.00	\$420.00	\$30.00	\$2,100.00	\$20.00	\$1,400.00	\$80.00	\$5,600.00	\$15.00	\$1,050.00
45	Bollards w/ Yellow PVC												
46	Covers, red reflector stripe Intentionally Left Blank	EA	2	\$600.00	\$1,200.00	\$800.00	\$1,600.00	\$500.00	\$1,000.00	\$900.00	\$1,800.00	\$650.00	\$1,300.00
47 48	Intentionally Left Blank Intentionally Left Blank												
49 49.01	Intentionally Left Blank Intentionally Left Blank												
50	Intentionally Left Blank Intentionally Left Blank												
52	Intentionally Left Blank Tree Removal												
53 53.01	Intentionally Left Blank												
53.02 53.03	Intentionally Left Blank 12.1"-24" or Cluster	EA	1	\$887.00	\$887.00	\$900.00	\$900.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$1,200.00	\$1,200.00
54	Equivalent Miscellaneous Work	<u> </u>	<u> </u>		<u> </u>				<u> </u>		<u> </u>		<u> </u>
54.01 54.02	Intentionally Left Blank Remove Buried Rock	LS	1	\$1,200.00	\$1,200.00	\$3,000.00	\$3,000.00	\$1,200.00	\$1,200.00	\$3,500.00	\$3,500.00	\$2,500.00	\$2,500.00
54.03 54.04	Site Fill and Grading Intentionally Left Blank	LS	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$4,000.00	\$4,000.00	\$1,500.00	\$1,500.00
55 56	Mobilization Record Drawings	LS LS	1	\$10,000.00 \$2,500.00	\$10,000.00 \$2,500.00	\$12,000.00 \$4,000.00	\$12,000.00 \$4,000.00	\$8,000.00 \$2,500.00	\$8,000.00 \$2,500.00	\$20,000.00 \$4,000.00	\$20,000.00 \$4,000.00	\$4,500.00 \$4,500.00	\$4,500.00 \$4,500.00
	Bid Based on Completion Tim ays Wildwood Springs 1	e of 27	70	\$1	17,873.50	\$1	32,392.60	\$1	43,208.40	\$2	209,995.50	\$2	31,784.20
57	Contract Contingency (10% of	Total	Base	\$1	11,787.35	\$1	.3,239.26	\$1	14,320.84	\$2	20,999.55	\$2	23,178.42
	Bid)	ed on			,		·		,		,	<u> </u>	,
Total Bid with Contract Contingency Based on Completion Time of 270 Calendar Days for Wildwood Springs 1				\$1	.29,660.85	\$1	45,631.86	\$1	157,529.24	\$2	230,995.05	\$2	54,962.62
CORAL SHORES WEST ITEM NO. DESCRIPTION U/M QTY.		UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE		
1	Wetwell Cleaning Wetwell Discharge Piping,	SF	415	\$5.00	\$2,075.00	\$8.00	\$3,320.00	\$5.00	\$2,075.00	\$10.00	\$4,150.00	\$10.00	\$4,150.00
3	HDPE DR-11, 6" Pump Base Ells, BPIU-14	LF EA	52	\$103.00 \$1,500.00	\$5,356.00 \$3,000.00	\$85.00 \$1,500.00	\$4,420.00	\$60.00 \$1,200.00	\$3,120.00	\$300.00	\$15,600.00 \$4,000.00	\$500.00	\$26,000.00 \$4,800.00
4	Pump Base Ell Mounting Plate	EA	2	\$2,000.00	\$4,000.00	\$1,400.00	\$2,800.00	\$750.00	\$1,500.00	\$2,000.00	\$4,000.00	\$1,400.00	\$2,800.00
5	S.S. Pipe Bracing, 6 ft dia.	EA	3	\$1,000.00	\$3,000.00	\$320.00	\$960.00	\$1,100.00	\$3,300.00	\$900.00	\$2,700.00	\$2,100.00	\$6,300.00
7	Stilling Well, PVC, 6" Intentionally Left Blank	LF	19	\$7.00	\$133.00	\$25.00	\$475.00	\$50.00	\$950.00	\$75.00	\$1,425.00	\$65.00	\$1,235.00
8	Replace Ex. Wetwell Top Slab		1	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00	\$3,500.00	\$3,500.00	\$3,000.00	\$3,000.00	\$7,500.00	\$7,500.00
9	PVC Vent, Sch 80, 4" Aluminum Hatch Cover, 36" x	EA	1	\$189.00	\$189.00	\$271.00	\$271.00	\$400.00	\$400.00	\$500.00	\$500.00	\$800.00	\$800.00
10	60", single door (Wetwell)	EA	1	\$1,300.00	\$1,300.00	\$1,700.00	\$1,700.00	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00	\$1,800.00	\$1,800.00
11	2" S.S. Pump Guide Rail System	LF	38	\$62.00	\$2,356.00	\$91.00	\$3,458.00	\$90.00	\$3,420.00	\$125.00	\$4,750.00	\$80.00	\$3,040.00
													

			U.S. Water Services Corporation		CEC Motor & Utility Services, LLC		Granger Maintenance & Construction, Inc.		Danus Utilities, Inc.		Hinterland Group, Inc.		
EL CONQU	ISTADOR 2	TADOR 2		New Port Richey, FL		Palmetto, FL		Plant City, FL		Sanford, FL		Riviera Beach, FL	
ITEM NO.	DESCRIPTION Wetwell Liner, spray-on	U/M SF	QTY. 415	\$32.00	\$13,280.00	UNIT PRICE \$32.00	\$13,280.00	UNIT PRICE \$36.00	\$14,940.00	\$25.00	\$10,375.00	\$40.00	\$16,600.00
13	Remove Ex. Liner	SF	415	\$6.00	\$2,490.00	\$16.00	\$6,640.00	\$14.00	\$5,810.00	\$8.00	\$3,320.00	\$12.00	\$4,980.00
14	Grout Fill Ex. Drain, abandon	EA	1	\$100.00	\$100.00	\$80.00	\$80.00	\$300.00	\$300.00	\$500.00	\$500.00	\$500.00	\$500.00
15 16	Gate Valve, FLG, 6" Swing Check Valve, FLG, 6"	EA EA	2	\$768.00 \$2,077.00	\$2,304.00 \$4,154.00	\$900.00 \$2,000.00	\$2,700.00 \$4,000.00	\$1,800.00 \$2,500.00	\$5,400.00 \$5,000.00	\$1,500.00 \$2,250.00	\$4,500.00 \$4,500.00	\$2,400.00	\$7,200.00 \$4,800.00
17	Gate Valve, MJ, 6"	EA	1	\$857.00	\$857.00	\$900.00	\$900.00	\$2,000.00	\$2,000.00	\$1,600.00	\$1,600.00	\$2,400.00	\$2,400.00
18 19	Pipe, D.I., FLG, 6" Pipe, PVC (DR-18), 6"	LF LF	5 10	\$176.00 \$20.00	\$880.00 \$200.00	\$200.00 \$70.00	\$1,000.00 \$700.00	\$150.00 \$90.00	\$750.00 \$900.00	\$250.00 \$80.00	\$1,250.00 \$800.00	\$500.00 \$400.00	\$2,500.00 \$4,000.00
20 20.01	Ductile Iron Fittings Tee, FLG, 6"	EA	2	\$765.00	\$1,530.00	\$500.00	\$1,000.00	\$750.00	\$1,500.00	\$1,200.00	\$2,400.00	\$1,200.00	\$2,400.00
20.02	90, FLG, 6" 90, MJ, 6"	EA EA	1	\$575.00 \$510.00	\$575.00 \$510.00	\$430.00 \$410.00	\$430.00 \$410.00	\$500.00 \$800.00	\$500.00 \$800.00	\$1,100.00 \$800.00	\$1,100.00 \$800.00	\$800.00	\$800.00
20.04	Intentionally Left Blank	LA	1 -	\$310.00	7310.00	\$410.00	7410.00	\$800.00	7800.00	\$800.00	7800.00	\$800.00	\$800.00
20.05	Intentionally Left Blank Quick Coupler Adapter,	EA	1	\$333.00	\$333.00	\$160.00	\$160.00	\$500.00	\$500.00	\$800.00	\$800.00	\$800.00	\$800.00
22	aluminum, male, 6" S.S. Adjustable Valve	EA	2	\$344.00	\$688.00	\$520.00	\$1,040.00	\$300.00	\$600.00	\$400.00	\$800.00	\$1,400.00	\$2,800.00
23	Supports, FLG attachment Intentionally Left Blank		L	70 1 1100	70000	Ψ020.00	Ψ=/σ :σ:σσ	φοσοίου	700000	Ψ 100100	700000	Ψ=,:00:00	+=/000100
24	Complete Removal of Valve Vault	LS	1	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$7,500.00	\$7,500.00
25	Concrete Slab, Valve Assembly	LS	1	\$1,500.00	\$1,500.00	\$960.00	\$960.00	\$850.00	\$850.00	\$2,000.00	\$2,000.00	\$2,400.00	\$2,400.00
26 27	Influent Line Plug, 12" By-Pass Pumping	EA LS	1	\$100.00 \$6,000.00	\$100.00 \$6,000.00	\$1,800.00 \$7,000.00	\$1,800.00 \$7,000.00	\$700.00 \$6,000.00	\$700.00 \$6,000.00	\$1,200.00 \$6,000.00	\$1,200.00 \$6,000.00	\$1,200.00 \$12,000.00	\$1,200.00 \$12,000.00
28	Intentionally Left Blank	L3	<u>+</u>	30,000.00	30,000.00	\$7,000.00	37,000.00	\$0,000.00	30,000.00	\$0,000.00	30,000.00	\$12,000.00	\$12,000.00
29	Relocate Ex. Backflow, Meter, & Hose Bib Assembly	EA	1	\$1,200.00	\$1,200.00	\$700.00	\$700.00	\$800.00	\$800.00	\$2,500.00	\$2,500.00	\$2,400.00	\$2,400.00
30	Remove & Replace Electric	EA	1	\$437.00	\$437.00	\$1,200.00	\$1,200.00	\$1,800.00	\$1,800.00	\$5,000.00	\$5,000.00	\$1,800.00	\$1,800.00
]	Meter Can	LA	1	, γ . σ. υU	у ч 57.00	Ψ±,200.00	γ1,200.00	Ψ±,000.00	γ±,000.00	γυ,υυυ.υU	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	γ±,000.00	γ±,000.00
31	Remove & Replace Fused Safety Switch (disconnect)	EA	1	\$352.00	\$352.00	\$4,200.00	\$4,200.00	\$4,200.00	\$4,200.00	\$6,000.00	\$6,000.00	\$3,400.00	\$3,400.00
32	Remove & Replace Control Panel	EA	1	\$23,749.00	\$23,749.00	\$17,000.00	\$17,000.00	\$16,000.00	\$16,000.00	\$25,000.00	\$25,000.00	\$18,000.00	\$18,000.00
33	TCU & Fiberglass Enclosure,	EA	1	\$488.00	\$488.00	\$12,700.00	\$12,700.00	\$15,000.00	\$15,000.00	\$17,500.00	\$17,500.00	\$14,000.00	\$14,000.00
34	DFS Junction Box, 304 SS	EA	1	\$2,918.00	\$2,918.00	\$1,127.50	\$1,127.50	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00
35	Remove & Replace Sch 80 PVC Conduit	LF	30	\$12.00	\$360.00	\$20.00	\$600.00	\$45.00	\$1,350.00	\$150.00	\$4,500.00	\$50.00	\$1,500.00
36	Intentionally Left Blank		<u> </u>										
37	Remove & Replace Electrical Mounting Structure	EA	1	\$2,000.00	\$2,000.00	\$4,600.00	\$4,600.00	\$3,300.00	\$3,300.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
38	Level Transducer, GXS3- PP300-A49-B49(50)-C01	EA	1	\$1,255.00	\$1,255.00	\$350.00	\$350.00	\$1,600.00	\$1,600.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00
39	Ex. Antenna Concrete Base,	LS	1	\$200.00	\$200.00	\$2,200.00	\$2,200.00	\$400.00	\$400.00	\$1,750.00	\$1,750.00	\$4,500.00	\$4,500.00
40	remove & disposal Washed Shell with Weed	SY	30	\$200.00	\$6,000.00	\$90.00	\$2,700.00	\$50.00	\$1,500.00	\$100.00	\$3,000.00	\$45.00	\$1,350.00
41	Barrier Concrete Repair, 2" thick (if	SF	208	\$20.00	\$4,160.00	\$6.00	\$1,248.00	\$12.00	\$2,496.00	\$4.00	\$832.00	\$25.00	\$5,200.00
42	required) Intentionally Left Blank	31	208	\$20.00	34,100.00	\$0.00	\$1,246.00	\$12.00	\$2,490.00	\$4.00	Ş632.00	\$23.00	33,200.00
43 44	Intentionally Left Blank Sodding	SY	10	\$6.00	\$60.00	\$35.00	\$350.00	\$20.00	\$200.00	\$100.00 \$1,000.00		\$15.00	\$150.00
45	Intentionally Left Blank New Conc. Floor & Fillet,		·	7 3 3 3	700000	, and a	700000	7-0:00	7-2-3-3-5	7	+ -/	7 20 32 5	7-2-2-2-2
46	4,000 psi	CY	5	\$600.00	\$3,000.00	\$400.00	\$2,000.00	\$500.00	\$2,500.00	\$250.00	\$1,250.00	\$350.00	\$1,750.00
47	Extended Generator Receptacle, outside fence	LF	7	\$200.00	\$1,400.00	\$500.00	\$3,500.00	\$1,500.00	\$10,500.00	\$200.00	\$1,400.00	\$120.00	\$840.00
48	Intentionally Left Blank		<u> </u>										
49	Rehabilitate Existing Concrete Manholes, w/ liner	VF	71	\$407.00	\$28,897.00	\$375.00	\$26,625.00	\$450.00	\$31,950.00	\$325.00	\$23,075.00	\$320.00	\$22,720.00
40.04	Heavy-duty Composite		_	4005.00	44 400 00	4000.00	44.500.00	44 500 00	47.500.00	4000.00	44.500.00	44 000 00	40.000.00
49.01 50	Ring & Cover Intentionally Left Blank	EA	5	\$896.00	\$4,480.00	\$900.00	\$4,500.00	\$1,500.00	\$7,500.00	\$900.00	\$4,500.00	\$1,800.00	\$9,000.00
51 52	Intentionally Left Blank Intentionally Left Blank												
53	Intentionally Left Blank												
53.01 53.02	Intentionally Left Blank Intentionally Left Blank												
53.03 54	Intentionally Left Blank Intentionally Left Blank												
54.01 54.02	Intentionally Left Blank Intentionally Left Blank												
54.03 54.04	Intentionally Left Blank Intentionally Left Blank												
55 56	Mobilization Record Drawings	LS LS	1	\$10,000.00 \$2,500.00	\$10,000.00 \$2,500.00	\$17,000.00 \$4,000.00	\$17,000.00 \$4,000.00	\$8,000.00 \$2,500.00	\$8,000.00 \$2,500.00	\$20,000.00 \$4,000.00	\$20,000.00 \$4,000.00	\$4,500.00 \$4,500.00	\$4,500.00 \$4,500.00
Total Base	Bid Based on Completion Time		70		.58,866.00		.76,104.50		.85,811.00		20,377.00		37,715.00
	ays for Coral Shores West Contract Contingency (10% of	Total	Base										
57	Bid)			\$	15,886.60	\$	17,610.45	\$1	18,581.10	\$	22,037.70	\$2	23,771.50
	vith Contract Contingency Base n Time of 270 Calendar Days fo		al	\$1	.74,752.60	\$1	93,714.95	\$2	04,392.10	\$2	42,414.70	\$2	61,486.50
Shores We	ores EAST 3												
ITEM NO.	DESCRIPTION		QTY.	UNIT PRICE		UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
2	Wetwell Cleaning Wetwell Discharge Piping,	SF LF	244 41	\$5.00 \$57.00	\$1,220.00 \$2,337.00	\$11.00 \$55.00	\$2,684.00 \$2,255.00	\$5.00 \$40.00	\$1,220.00 \$1,640.00	\$10.00 \$500.00	\$2,440.00 \$20,500.00	\$10.00 \$400.00	\$2,440.00 \$16,400.00
3	HDPE DR-11, 4" Pump Base Ells, BPIU-14	EA	2	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000.00	\$1,100.00	\$2,200.00	\$2,000.00	\$4,000.00	\$2,400.00	\$4,800.00
4	Pump Base Ell Mounting Plate	EA	2	\$2,000.00	\$4,000.00	\$1,400.00	\$2,800.00	\$750.00	\$1,500.00	\$2,000.00	\$4,000.00	\$1,400.00	\$2,800.00
5	S.S. Pipe Bracing, 5 ft dia. Intentionally Left Blank	EA	2	\$1,000.00	\$2,000.00	\$320.00	\$640.00	\$1,000.00	\$2,000.00	\$750.00	\$1,500.00	\$1,800.00	\$3,600.00
7	Intentionally Left Blank		<u> </u>										
8	Replace Ex. Wetwell Top Slab	EA	1	\$3,500.00	\$3,500.00	\$1,300.00	\$1,300.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$7,500.00	\$7,500.00
9	PVC Vent, Sch 80, 4" Aluminum Hatch Cover, 36" x	EA	1	\$189.00	\$189.00	\$271.00	\$271.00	\$400.00	\$400.00	\$500.00	\$500.00	\$800.00	\$800.00
10	48", single door (Wetwell)	EA	1	\$928.00	\$928.00	\$1,400.00	\$1,400.00	\$1,300.00	\$1,300.00	\$5,000.00	\$5,000.00	\$1,800.00	\$1,800.00
11	2" S.S. Pump Guide Rail System	LF	27	\$87.00	\$2,349.00	\$114.00	\$3,078.00	\$90.00	\$2,430.00	\$125.00	\$3,375.00	\$80.00	\$2,160.00
12 13	Wetwell Liner, spray-on Intentionally Left Blank	SF	244	\$32.00	\$7,808.00	\$32.00	\$7,808.00	\$36.00	\$8,784.00	\$25.00	\$6,100.00	\$40.00	\$9,760.00
14	Grout Fill Ex. Drain, abandon	EA	1	\$100.00	\$100.00	\$300.00	\$300.00	\$300.00	\$300.00	\$500.00	\$500.00	\$500.00	\$500.00
	L		1	1	l .	<u> </u>	l	I .			l		

				U.S. Water Services Corporation New Port Richey, FL			Utility Services, LLC	Const	Maintenance & truction, Inc. nt City, FL		Utilities, Inc. nford, FL	Hinterland Group, Inc. Riviera Beach, FL		
EL CONQUISTADOR 2 ITEM NO. DESCRIPTION U/M QTY.		LIMIT DDICE	EVTENDED DDICE	LINIT DDICE	EVTENDED DDICE	LINIT DDICE	EVTENDED DDICE	LINIT DDICE	EVERIDED DDICE	LINUT DDICE	EVTENDED DDICE			
15	Gate Valve, FLG, 4"	EA	QTY. 3	UNIT PRICE \$581.00	\$1,743.00	UNIT PRICE \$560.00	\$1,680.00	\$1,200.00	\$3,600.00	\$900.00	\$2,700.00	\$2,500.00	\$7,500.00	
	Swing Check Valve, FLG, 4"	EA	2	\$1,573.00	\$3,146.00	\$1,200.00	\$2,400.00	\$1,800.00	\$3,600.00	\$1,900.00	\$3,800.00	\$2,500.00	\$5,000.00	
		ļ												
17 18	Gate Valve, MJ, 4" Pipe, D.I., FLG, 4"	EA LF	5	\$705.00 \$147.00	\$705.00 \$735.00	\$420.00 \$84.00	\$420.00 \$420.00	\$1,600.00 \$110.00	\$1,600.00 \$550.00	\$1,100.00 \$150.00	\$1,100.00 \$750.00	\$2,500.00 \$350.00	\$2,500.00 \$1,750.00	
19	Pipe, PVC (DR-18), 4"	LF	10	\$10.00	\$100.00	\$34.00	\$340.00	\$65.00	\$650.00	\$30.00	\$300.00	\$350.00	\$3,500.00	
20	Ductile Iron Fittings							<u>'</u>	·		•			
20.01	Tee, FLG, 4"	EA	2	\$539.00	\$1,078.00	\$400.00	\$800.00	\$500.00	\$1,000.00	\$600.00	\$1,200.00	\$800.00	\$1,600.00	
20.02	90, FLG, 4" 90, MJ, 4"	EA EA	1	\$393.00 \$357.00	\$393.00 \$357.00	\$314.00 \$400.00	\$314.00 \$400.00	\$350.00 \$550.00	\$350.00 \$550.00	\$500.00 \$400.00	\$500.00 \$400.00	\$500.00 \$500.00	\$500.00 \$500.00	
20.04	45, MJ, 4"	EA	1	\$357.00	\$357.00	\$350.00	\$350.00	\$500.00	\$500.00	\$400.00	\$400.00	\$500.00	\$500.00	
20.05	Intentionally Left Blank													
21	Quick Coupler Adapter,	EA	1	\$177.00	\$177.00	\$159.00	\$159.00	\$300.00	\$300.00	\$500.00	\$500.00	\$800.00	\$800.00	
	aluminum, male, 4" S.S. Adjustable Valve													
22	Supports, FLG attachment	EA	2	\$344.00	\$688.00	\$520.00	\$1,040.00	\$270.00	\$540.00	\$300.00	\$600.00	\$1,200.00	\$2,400.00	
23	Intentionally Left Blank													
24	Complete Removal of Valve	LS	1	\$5,000.00	\$5,000.00	\$2,400.00	\$2,400.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00	
	Vault Concrete Slab, Valve	<u> </u>												
25	Assembly	LS	1	\$2,500.00	\$2,500.00	\$960.00	\$960.00	\$850.00	\$850.00	\$2,000.00	\$2,000.00	\$2,400.00	\$2,400.00	
26	Influent Line Plug, 8"	EA	1	\$100.00	\$100.00	\$700.00	\$700.00	\$500.00	\$500.00	\$900.00	\$900.00	\$1,200.00	\$1,200.00	
27	By-Pass Pumping	LS	1	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00	\$9,000.00	\$9,000.00	\$5,000.00	\$5,000.00	\$12,000.00	\$12,000.00	
28	Install Backflow, Meter, & Hose Bib Assembly	EA	1	\$1,200.00	\$1,200.00	\$32.00	\$32.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$3,400.00	\$3,400.00	
29	Intentionally Left Blank	<u> </u>	<u> </u>											
30	Remove & Replace Electric	EA	1	\$437.00	\$437.00	\$1,200.00	\$1,200.00	\$1,800.00	\$1,800.00	\$4,000.00	\$4,000.00	\$1,800.00	\$1,800.00	
	Meter Can		_	φ 137.00	Ţ 137.00	71,200.00	71,200.00	Ψ1,000.00	ψ1,000.00	ψ 1,000.00	ψ 1,000.00	71,000.00	Ψ1,000.00	
31	Remove & Replace Fused Safety Switch (disconnect)	EA	1	\$352.00	\$352.00	\$4,200.00	\$4,200.00	\$4,200.00	\$4,200.00	\$5,000.00	\$5,000.00	\$3,400.00	\$3,400.00	
32	Remove & Replace Control Panel	EA	1	\$22,000.00	\$22,000.00	\$15,717.00	\$15,717.00	\$16,000.00	\$16,000.00	\$26,000.00	\$26,000.00	\$18,000.00	\$18,000.00	
33	TCU & Fiberglass Enclosure,	EA	1	\$488.00	\$488.00	\$12,700.00	\$12,700.00	\$15,000.00	\$15,000.00	\$17,500.00	\$17,500.00	\$14,000.00	\$14,000.00	
	DFS													
34	Junction Box, 304 SS Remove & Replace Sch 80	EA	1	\$2,918.00	\$2,918.00	\$1,127.50	\$1,127.50	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	
35	PVC Conduit	LF	30	\$12.00	\$360.00	\$19.00	\$570.00	\$45.00	\$1,350.00	\$150.00	\$4,500.00	\$50.00	\$1,500.00	
36	Remove & Replace Electrical	LF	20	\$20.00	\$400.00	\$61.00	\$1,220.00	\$110.00	\$2,200.00	\$150.00	\$3,000.00	\$85.00	\$1,700.00	
	Service		20	Ş20.00	Ş400.00	Ç01.00	\$1,220.00	Ş110.00	\$2,200.00	7130.00	73,000.00	303.00	\$1,700.00	
37	Remove & Replace Electrical Mounting Structure	EA	1	\$1,500.00	\$1,500.00	\$4,600.00	\$4,600.00	\$3,300.00	\$3,300.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	
38	Level Transducer, GXS3- PP300-A49-B49(50)-C01	EA	1	\$1,255.00	\$1,255.00	\$350.00	\$350.00	\$1,600.00	\$1,600.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	
39	Ex. Antenna Concrete Base,	LS	1	\$200.00	\$200.00	\$2,200.00	\$2,200.00	\$400.00	\$400.00	\$1,750.00	\$1,750.00	\$4,500.00	\$4,500.00	
40	remove & disposal Intentionally Left Blank											<u> </u>		
41	Concrete Repair, 2" thick (if	SF	122	\$20.00	\$2,440.00	\$3.00	\$366.00	\$12.00	\$1,464.00	\$4.00	\$488.00	\$25.00	\$3,050.00	
41	required)	31	122	\$20.00	32,440.00	Ş3.00	Ş300.00	\$12.00	Ş1,404.00 	Ş4.00	7488.00	\$23.00	\$3,030.00	
42	Phase Converter, 1 phase to 3 phase	EA	2	\$1,851.00	\$3,702.00	\$1,500.00	\$3,000.00	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00	\$4,000.00	\$8,000.00	
43	Intentionally Left Blank	l						<u> </u>				l l		
44	Mulch	SY	40	\$50.00	\$2,000.00	\$30.00	\$1,200.00	\$30.00	\$1,200.00	\$40.00	\$1,600.00	\$45.00	\$1,800.00	
45	Intentionally Left Blank									<u> </u>				
46 47	Intentionally Left Blank Intentionally Left Blank													
	Intentionally Left Blank													
	Rehabilitate Existing													
49	Concrete Manholes, w/ liner	VF	4	\$407.00	\$1,628.00	\$325.00	\$1,300.00	\$500.00	\$2,000.00	\$500.00	\$2,000.00	\$320.00	\$1,280.00	
	Heavy-duty Composite			4000	* -	40.55		A	A. =	40.55		A. 55-	A	
49.01	Ring & Cover	EA	1	\$896.00	\$896.00	\$900.00	\$900.00	\$1,500.00	\$1,500.00	\$900.00	\$900.00	\$1,800.00	\$1,800.00	
50	Intentionally Left Blank													
51 52	Intentionally Left Blank Intentionally Left Blank					 				 				
53	Intentionally Left Blank													
53.01	Intentionally Left Blank													
53.02	Intentionally Left Blank													
53.03 54	Intentionally Left Blank Intentionally Left Blank													
54.01	Intentionally Left Blank					<u> </u>				<u> </u>				
54.02	Intentionally Left Blank													
54.03 54.04	Intentionally Left Blank Intentionally Left Blank									<u> </u>				
	Mobilization	LS	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$25,000.00	\$25,000.00	\$4,500.00	\$4,500.00	
-	Record Drawings	LS	1	\$2,500.00	\$2,500.00	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00	\$4,500.00	\$4,500.00	
	Bid Based on Completion Tim	e of 27	70	¢ 1	04,786.00	¢1	06,601.50	¢1°	23,378.00	¢11	86,303.00	\$19	35,440.00	
Calendar D	Pays for Coral Shores East 3			71	,. 00.00	,,,		71.		710		710	, . 10.00	
57	Contract Contingency (10% of	Total	Base	\$1	10,478.60	Ś [,]	10,660.15	\$1	2,337.80	\$18 630 30		\$1	8,544.00	
	btal Bid with Contract Contingency Based on			, , , , , , , , , , , , , , , , , , ,		ļ		ļ		\$18,630.30		, , , , , , , , , , , , , , , , , , ,	, .	
Completio	Completion Time of 270 Calendar Days for Coral				15,264.60	\$1	17,261.65	\$13	35,715.80	\$204,933.30		\$20	03,984.00	
Shores East 3						<u> </u>								
Grand Total Bid with Contract Contingency Based o														
Completio	n Time of 270 Calendar Days (El		\$6	73,583.35	\$7	22,701.76	\$773,648.04		\$1,107,609.25		\$1,147,684.1 2		
1	dor 2 + Wild Oak Bay + Wildwo	•	rings	70	-,- 	[_,. \ \	\$//5,b48.U4		\$1,107,609.25		\$1,147,684.12		
+ Coral S	hores West + Coral Shores Eas	ι 3)												
						-				-				